
Reference Value Qty Description Marking

R10 220R 1 Resistor 1%, 1/4W RED-RED-BLK-BLK-BRN

R11 2k2 1 Resistor 1%, 1/4W RED-RED-BLK-BRN-BRN

R7 100k 1 Resistor 1%, 1/4W BRN-BLK-BLK-ORG-BRN

R4, R5  1M 2 Resistor 1%, 1/4W BRN-BLK-BLK-YEL-BRN

R8 2M7 1 Resistor 1%, 1/4W RED-VIO-BLK-YEL-BRN

R1 10M 1 Resistor 1%, 1/4W BRN-BLK-BLK-GRN-BRN

R9 15M 1 Resistor 1%, 1/4W BRN-GRN-BLK-GRN-BRN or BRN-GRN-BLU-YEL

R3 100M 1 Resistor 1%, 1/4W BRN-BLK-BLK-BLU-BRN

R2, R6 250M 2 Resistor 1%, 1/4W RED-GRN-BLK-BLU-BRN

C7 NC Not connected

C2 1n-250V 1 Capacitor Styroflex 1000J 500V
C3, C4 10n-250V 2 Capacitor Film
C1 100n-250V 1 Capacitor Film

C6 3u3-250V 1 Capacitor Polypropylene 3,3uF
C5 33u-35V 1 Capacitor Electro, 105°

V1 JAN6205 1 Miniature tube penthode

RLY1 1 Reed relay 12V

JMP1 1 Header 1x2 pins

1 Jumper

J1 1 Socket 1x7 pins

J2 1 Header 90° 1x7 pins
CAL 1 Test pin

1x15mm 2 Pin

14cm Teflon (PTFE) wire

9cm Copper wire

7cm silicone tube
T1 CM-13101 1 Cinemag output transformer
MIC1 1 Microphone capsule

Capsule assembly 1 Capsule saddle

Capsule assembly 1 Capsule hat

Capsule assembly 1 Vibration damping capsule standoff

1 SK49 Microphone body

SK49 1 Microphone bag

SK49 1 SK49 Microphone shockmount

6m 1 Microphone cable XLR7-XLR7

PCB-A 1 PCB set (7)

SK49 Parts list (1)

All the components in this list are included in the kit

Page 1/2 Copyright ©2023 to today SoundSkulptor



Transformer assembly 2.5x160mm 3 Cable tie

Capsule hat assembly M1.6x4mm 2 Miniature screw

Capsule saddle assembly M1.6x6mm 2 Miniature screw

Capsule assembly M3x6mm 1 Screw pan head narrow head

Capsule assembly M3x10mm 1 Screw pan head

Capsule assembly M3 1 Lock washer

PCB assembly M2.5x25+4mm 3 Spacer male/fem

PCB assembly M2.5x15mm 3 Spacer male/fem

PCB assembly M3x20mm 2 Spacer fem/fem

PCB assembly M2.5x6mm 3 Screw pan head

PCB assembly M3x6mm 4 Screw pan head

Last modified : 08/09/2024

Schematic Rev 1.3

PCB Rev 1.3

(1) Data can be changed without notice

Page 2/2 Copyright ©2023 to today SoundSkulptor


